Part  
Type  
Quantity

DC MOTOR DRIVER V1.1 (1)

100 nF ceramic capacitor 
Electronic Component 
6
$
100 uF electrolytic capacitor 
Electronic Component 
2
#
100K ohm resistor 
Electronic Component 
4
+
14 pin DIP socket 
Electronic Component 
1
%
16 pin DIP socket 
Electronic Component 
1

4 pin .200" terminal block 
Electronic Component 
1

4 pin molex connector 
Electronic Component 
1
&
560 ohm resistor 
Electronic Component 
3
=
5mm green LED 
Electronic Component 
5
@
74HC00N 
Electronic Component 
1

78L05 
Electronic Component 
1

L293D 
Electronic Component 
1

DC Motor Driver v1.1 PCB 
Printed Circuit Board 
1

Cat 6 cable 
Wire 
2 feet
*
OPTO ENDSTOP V1.0 (6)

10K ohm resistor 
Electronic Component 
1
:
220 ohm resistor 
Electronic Component 
1
;
3 pin housing 
Electronic Component 
1
?
crimp-on terminals 
Electronic Component 
3
<
H21LOI 
Electronic Component 
1
>
Opto Endstop v1.0 PCB 
Printed Circuit Board 
1 

PMW DRIVER V1.1 (1)

100 nF ceramic capacitor 
Electronic Component 
1
$
100 uF electrolytic capacitor 
Electronic Component 
1
#
1K ohm resistor 
Electronic Component 
3

1N4005 
Electronic Component 
3

2 pin .200" connector 
Electronic Component 
3
[
4 pin molex connector 
Electronic Component 
1
&
560 ohm resistor 
Electronic Component 
4
=
5mm green LED 
Electronic Component 
4
@
TIP120 
Electronic Component 
3

PWM Driver v1.1 PCB 
Printed Circuit Board 
1

Cat 6 cable 
Wire 
2 feet
*
STEPPER MOTOR DRIVER V1.1 (3)

.100 breakaway header 
Electronic Component 
6
q
.100 shunt 
Electronic Component 
2
w
.156" 4 position housing 
Electronic Component 
1
e
.156" crimp-on connector 
Electronic Component 
4
r
.156" header 
Electronic Component 
4
t
0.5 ohm 2 watt resistor 
Electronic Component 
2
y
1 nF ceramic capacitor 
Electronic Component 
2
u
100 nF ceramic capacitor 
Electronic Component 
3
$
100 uF electrolytic capacitor 
Electronic Component 
2
#
100K ohm resistor 
Electronic Component 
1
+
2.7K ohm resistor 
Electronic Component 
1
i
20 pin DIP socket 
Electronic Component 
1
o
22K ohm resistor 
Electronic Component 
1
p
2K trimpot 
Electronic Component 
1
a
3 pin header 
Electronic Component 
2
s
3 pin housing 
Electronic Component 
2
?
3.3 nF ceramic capacitor 
Electronic Component 
1
d
4 pin molex connector 
Electronic Component 
1
&
4.7K ohm resistor 
Electronic Component 
2
f
560 ohm resistor 
Electronic Component 
3
=
5mm green LED 
Electronic Component 
1
@
Bicolor LED 
Electronic Component 
2
g
big heat sink 
Electronic Component 
1
h
crimp-on terminals 
Electronic Component 
6
<
L297 
Electronic Component 
1
k
L298N 
Electronic Component 
1
l
SB360 
Electronic Component 
8
z
Stepper Motor Driver v1.1 PCB 
Printed Circuit Board 
1

Cat 6 cable 
Wire 
2 feet
*
THERMOCOUPLE SENSOR V1.0 (1)

14 pin DIP socket 
Electronic Component 
1
%
2 pin .200" connector 
Electronic Component 
1
[
330 ohm resistor 
Electronic Component 
1

5mm red LED 
Electronic Component 
1

AD595 
Electronic Component 
1

Type K Thermocouple 
Electronic Component 
1

Thermocouple Sensor v1.0 PCB 
Printed Circuit Board 
1 

THERMOPLAST EXTRUDER V1.1 (1)
100K thermistor  
Electronic Component  
1

M3 nut 
Fastener 
20
!
M3 washer 
Fastener 
40
“
M3 x 25 cap 
Fastener 
6
(
M3 x 35 cap 
Fastener 
2

M5 nut 
Fastener 
1
)
M5 washer 
Fastener 
1
/
M5 x 25 cap 
Fastener 
1
-
Extruder Nozzle 
Machined Part 
1

Flexible Drive Shaft 
Machined Part 
1

Heater Barrel 
Machined Part 
1

PTFE Insulator 
Machined Part 
1

Screw Drive 
Machined Part 
1

Grease 
Miscellaneous 
1

High Temp Epoxy 
Miscellaneous 
1 g

Extruder Motor 
Electric Motor 
1

Printing Service 
Printed Part 
7

Nichrome 80 
Wire 
400 mm

CARTESIAN ROBOT V1.0 (1)

MXL 
Toothed Belt 
4600 mm
M5 nut 
Fastener 
126
(
M5 x 8 grub 
Fastener 
58

M5 washer 
Fastener 
106
/
M5 x 30 cap 
Fastener 
15

M5 x 20 cap 
Fastener 
14

M3 nut 
Fastener 
15
!
M3 washer 
Fastener 
24
“
M3 x 30 cap 
Fastener 
1

M5 x 15 cap 
Fastener 
41

M3 x 15 cap 
Fastener 
8

M3 x 25 cap 
Fastener 
6
(
M8 nut 
Fastener 
70

M8 washer 
Fastener 
50

M5 x 40 cap 
Fastener 
1

M5 x 50 cap 
Fastener 
1

M5 x 25 cap 
Fastener 
3
-
MDF / Wood Bed 
Miscellaneous 
1

Fan 
Miscellaneous 
1

Grease 
Miscellaneous 
4

Spring 
Miscellaneous 
4

Stepper Motor 
Electric Motor 
3

Z toothed pulley 
Pulley 
4

X toothed pulley 
Pulley 
1

Y toothed pulley 
Pulley 
2

8mm 
Smooth Rod 
8534 mm

Printing Service 
Printed Part 
101

M8 
Threaded Rod 
7612 mm
Hardware/Electronics Shop – I think I can find these parts on my own.
RRRF – If I can’t find these, and I don’t think I will, I’ll get them at RRRF.
Bits From Bytes – Because the plywood cutouts are not ready.
Where? How? – Can these parts be purchased or are they handmade only?
Shared Components
.100 breakaway header 
Electronic Component 
18
q
.100 shunt 
Electronic Component 
6
w
.156" 4 position housing 
Electronic Component 
3
e
.156" crimp-on connector 
Electronic Component 
12
r
.156" header 
Electronic Component 
12
t
0.5 ohm 2 watt resistor 
Electronic Component 
6
y
1 nF ceramic capacitor 
Electronic Component 
6
u
2 pin .200" connector 
Electronic Component 
4
[
2K trimpot 
Electronic Component 
3
a
2.7K ohm resistor 
Electronic Component 
3
i
3 pin header 
Electronic Component 
6
s
3 pin housing 
Electronic Component 
12
?
3.3 nF ceramic capacitor 
Electronic Component 
3
d
4 pin molex connector 
Electronic Component 
5
&
4.7K ohm resistor 
Electronic Component 
6
f
5mm green LED 
Electronic Component 
12
@
10K ohm resistor 
Electronic Component 
6
:
14 pin DIP socket 
Electronic Component 
2
%
20 pin DIP socket 
Electronic Component 
3
o
22K ohm resistor 
Electronic Component 
3
p
100 nF ceramic capacitor 
Electronic Component 
16
$
100 uF electrolytic capacitor 
Electronic Component 
9
#
100K ohm resistor 
Electronic Component 
7
+
220 ohm resistor 
Electronic Component 
6
;
560 ohm resistor 
Electronic Component 
16
=
Bicolor LED 
Electronic Component 
6
g
big heat sink 
Electronic Component 
3
h
Cat 6 cable 
Wire 
10 feet
*
crimp-on terminals 
Electronic Component 
36
<
H21LOI 
Electronic Component 
6
>

L297 
Electronic Component 
3
k
L298N 
Electronic Component 
3
l
M3 nut 
Fastener 
35
!
M3 washer 
Fastener 
64
“

M3 x 25 cap 
Fastener 
12
(
M5 nut 
Fastener 
127
)
M5 washer 
Fastener 
107
/
M5 x 25 cap 
Fastener 
4
-
SB360 
Electronic Component 
24
z

